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1. ayx+biy = cy, azx + by = cp.

System of two linear algebraic equations
Three different cases are possible depending on the values of the equation coefficignts;.

1°. If A =a1by —azby # 0, the system has a unique solution:

_ c1by — by _aic —axcy
a,lbz - azb]_ ' y albz - a,zb]_ '
2°. If A=azby—ab; =0anda;ca—azcq =0 (in this case, the equation coefficients are proportional),
the system has infinitely many solutions given by
Cc1— alt

#
by (b1 #0),

r=t, y=

wheret is an arbitrary number.
3°. If A =azby —azby =0andayc, — azey £ 0, the system has no solutions.
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